DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
T1PCM09 | JEE PRACTICE QUESTIONS | 2 1XH
(2023-24) (TEST-9) Total Marks: 180
General Instructions:

1. The test is of 1.15 hrs duration and consists of 45 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. The radius of earth is reduced by 4%. The
mass of the earth remains unchanged. What
will be the change in escape velocity

A) Increased by 6%
B) Decreased by 8%
C) Increased by 2%

D) Decreased by 4%

Lellulledt <UD 4% GOm&HESELILGSMSI.
LielulledT Blemm DMMITIDGY 2 6TeNGl 6160t 16V
AN U® HengGeud WMmILIT(H 6T6dT60T?

A) 6% 2 WHHMS!

B) 8% &M HR M

Q) 2% 2 W(HHmS!

D) 4% GenDE S

2. The potential energy if a rock, having mass m
and rotating at a height of 3.2 x 10° m from the
earth surface, is

A) -6 mgR,
B) -0.33 mgR,
C) -0.67 mgR,

D) -0.99 mgR,

Hellullesr GLmurLitiey 3.2 x 106 m 2_W &S0
FLOVID m Blemm 2 emLW @h Lmenmuileor
Bl606v 24DV

A) -6 mgR,
B) -0.33 mgR,
C) -0.67 nge

D) —0.99 mgR,

3. If the earth were to rotates faster than its
present speed, the weigh of an object will

A) Remain unchanged at the equator but
increase at the poles

B) Decreases at the equator but remains
unchanged at the poles

C) Remain unchanged at the equator but
decrease at the poles

D) Increase at the equator but remain

unchanged at the poles

Ll 95T SHCUTMSW Gaussamns el

5H&H GCassSHe SGLOIINTETTE, @
QUITH6rTl6dT 6T6mIL

A) BB euem T LGS Wl6L LDMMITLD6 @) (HE G LD
L60TIT6L Sl(HeUMIG6Tl60 9H &6 G0

B) BOeuenT LGS UI6); G6mMULD 46076V
Sl[HeUmIG6Tlev LDMMTLNE @) (HEHGLD
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Q) B eUemT LGS UI6L LDTMITLO6L @) (HE G LD
SL60TIT6L Sl(HeUMISETI6L GHemMmULD

D) bheueny LGHUI; T &IEGID
QLEOTITEL  SI(HeUmIG6fley  DMMITLO6Y
Q@GEIC

4. Assume that the acceleration due to gravity
on the surface of the moon is 0.2 times the
acceleration due to gravity on the surface of
the earth. If Re is the maximum range of a
projectile on the earth’s surface, what is the
maximum range on the surface of the moon
for the same velocity of projection

A) 0.2R,
B) 2R,
C) 5 Re
D) 0.5 R
Blevellesr  Guouplitflev  yell  FFLLY
whsswmerg Leluwiler Gumuirlilsverer

el Fyly w@&EsE5mS el 0.2 LOLTHIG
eTeoT S(H&HCaumd. Lellulledr GumurLiLilev

T QLI 6rfl T QuU(BLO QB{H& 5D
Re eTevfley mlevalledr  GMHUFLILIeL
65 T 6t F C6UB ST 6V T L
erlQUIMTH6 T QLIIBLD QB (HEEHLD 6TE0T60T?

A) 0.2Rg

B) 2Re

Q) 5Re

D) 0.5 Re

5. The period of moon’s rotation around the earth
is nearly 29 days. If moon’s mass were 2-fold
its present value and all other things remain
unchanged, the period of moon’s rotation
would be nearly

A) 29 days
B) 29 x 2 days
C) 29/72 days

D) 292 days

HellemwsdF &mnlel@d  Blevalledr &mHmis
&HMEVLD FMEGEMMU 29 BITL_&6T Q@& LD. LDMHM
STgetl&Hefley  6Thg  MHMULOLIEVEVITLOEY;
Blevelledt Blemm SHCUMTMHSW G160
L 2 WLLMBIG AHSLMeTTey  Blevedleor
FMHMIGHETEVLD FME &6 MU

A) 29 BITL&6T
B) 29 x 2 BTL_&6IT
C) 29/2 BITLG6IT

D) 29V2 BITL_&6IT

6. The maximum and minimum distances of a
comet from the sun are 8 x 10> m and 1.6 x
10'> m. If its velocity when nearest to the sun
is 60 ms!, what will be its velocity in ms!
when it is farthest.

A) 60 B) 6

C) 12 D) 112

& lwelellGha @ e HL&FSS 78S 6o
SHGLLF I0MMID GOMBHSLILF SHITTHIG6T
8 x 10" m MM 16 x 10?7 m 9 GLD.
G5 @ L& 2(H T 6L 2_6T6IT GLIMS) ] & 60T
FlemFBalsd 60 ms' 6Tl QG MTemnevailey
2 6T GLIMEI 25607 HenFGeussd ms™ @6V

A) 60 B) 6

12 D) 112

7. A research satellite of mass 200 kg circles the
earth in an orbit of radius 3R /2 where R is
the radius of the earth. Assuming gravitational
pull on a mass of 1 kg on the earth’s surface to
be 10 N, the pull on the satellite will be

A) 889N B) 890 N

C) 892N D) 885 N

200 kg BlemmMU]6MLLLI 62([H G &F UM 60 & &G IT6T
Hellemw 3R/2 6TedTm SbJRemLW  SmHaiLl
uremsuiley s&oml uGHMmE. @mE& R
eTeoTLIE Lellulledr <urb <&, Ledlullesr
GMmUILLlev 2 6Tem s 1kg mlemmU6TET
Qum@erflest W& FILIL ellem&emul 10 N eT6or
HHB 6TV QFWMmensd Gamerfledr LIS meoT
FILIL ellem&
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A) 889 N B) 890 N

C) 892 N D) 885 N

8. The angular momentum (L) of earth revolving
round the sun in circular orbit is proportional
to ", where r" is the orbital radius of the earth.
The value of n is

A)2 B) I

C)1/2 D)-1/2
Glwemners aul L LI LUmemguiley &mml au(pLd
Lelluflest Gamevor 2 bHmers (L), M-&&
CBHI&HEH6V 2 6TeTgl. @ MG r eTeoTLIG! Led
FOHmILI LUmengulledt QLD eteoflev rm @60t
G

A) 2 B) 1

Q) 1/2 D) -1/2

9. An infinite number of particles each of mass 3
kg are placed on the positive x — axis at I m,
2m 4m, 8m, ....... from the origin. The
magnitude of the resultant gravitational force
on mass 3 kg kept at the origin is

A)4G B)12G

0) 12/5G D)6G

61GaUMETMILD 3 kg [B160)MU|GITET 6T600T600T (D M
SIGaTH6T GBIWeHm X IFFT S
Ljeerflufled pb s im, 2m, 4m, 8m.....
Qsmemevallel  emeauSS&LILIL (H6TeTer. o5
Liemerfludley emeudssLiLIl L 3 kg Blemmu]eTer
Sliserfleor s FFTLIL 6608 U 60T Q&5 (&5 LIl 60T
LS LILITEOTSI.

A 4G B)12G

) 12/5G D)6G

10. During motion if a man from equator to pole
of earth, his weight will (neglect the effect of
change in the radius) (given R@w? =0.033ms™)

A) Decrease by 0.52%

B) Decrease by 0.34%

C) Increase by 0.52%

D) Increase by 0.34%

pOemT  USHUINGHs  yeiluiler
SMHUSSHS R LISHET @) WHIGISTS
HHBETMTL eUeTEH 6Tl (QTHH6V
UG WIOHMEHMS LiM&860018856]0
GLaILD Rw? = 0.033 ms?)

A) 0.52% GenmH M
B) 0.34% GO DI M
Q) 0.52% P& &R DS

D) 0.34% 915 & fl&HRma

11. Three masses each of mass m are placed at
the vertices of an equilateral triangle ABC of
side L as shown in figure. The force acting
on a mass 2m placed at the centroid O of the
triangle is

L BempeTer &FOUSHS (N&HCSMeoord  ABC
QR6TMIET  (LNEM6TEETI60. REUGIAIMETMIND m
15160 (DU 6ITEIT [B160) M &6 606U & &5 LILIL (h 6iT6T6oT
6Tl (NGHBHMTEOTEHH60T  emLDWILIL| 66N
O-all6v emeugsLILULR6Tem 2m  Bleoymulledr
S5a1 QFwWeLLIBID ellens
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A) 142
B) 1/4
Q) 1/2

D)0

12. A body weighs 250 N on the surface of the
earth. How much will it weigh half way down
to the center of the earth.

A) 125N
B) 250 N
C) 150N

D) 175N

widluflesr Gumurlitiev @  QuImerfleor
6160y 250N 6T60116L Li, LA U9 60T 600 LD U1 &5 60l (B H Sl
UTEH  Qsmeneveilley HGC  IFH6T  6TevL
6TEURIETAIMS @) (H& S LD.

A) 125 N

B) 250 N

C) 150 N

D) 175 N

13. The escape velocity of 10g body from the
earth is 11.2 kms™. Ignoring air resistance,
the escape velocity of 10 kg of the iron ball
from the earth will be

A) 0.56 kms™!
B) 0.0112 kms™!
C)0.112 kms™!

D) 11.2 kms™!

LpLiludlev 109 Qumperflesr QI
FemsGeausd  11.2kms! QL&D STt
SO  LM&EH0H&ELLULSHES 616016V
LOuNedl @bl 10 kg @GLOL LS 6T mleor
G U® HensGeussid

A) 0.56 kms™

B) 0.0112 kms™

€) 0.112 kms™

D) 11.2 kms™

14. Radius of earth is 6400 km and that of mars is
3200 km. Mass of mars is 0.1 that of earth’s
mass. Then the acceleration due to gravity on
mars is nearly.

A)2.5ms?
B) 5 ms™
C) 1 ms™?
D)4 ms™

Lu LBl U 60T @y, 7LD 6400 km LOMMILD Q& 616U Ul 60T
QLD 3200 km 9L@&LD. QF6ueITUleT Bleom
dlulesr mlemmuiev 0.1 LOLMIG eT6ofley
QEFauaTUl ByssHer Lall FILIL whH &SI
IS

A) 2.5 ms™
B) 5 ms=
C) 1 ms=
D) 4 ms™
15. The ratio of escape velocity at earth v_ to the

escape velocity at a planet v, whose radius
and mean density are twice as that of earth is

A)l:2 B)l1:4

C)1:2V2 D)1:2

LdluledT 9L rd Mo FrrEifl 9L &S en Wl
L 2 DL TBIE 2_6mL W 62(H Gasmerflev L, ullev
aGUB HemngGeaushd v, nHMILD G&merfledr
aAlQub HosCusd v-5& QLW

9 66T H56)
A)1:2 B)1:4
Q) 1:2V2 D) 1:+2
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| CHEMISTRY Q.No. 16 to 30 |

16. The correct IUPAC name of the following
compound is

A) 2-methyl-5-nitro-1-chlorobenzene
B) 3-chloro-1-methyl-1-nitrobenene
C) 2-chloro-1-methyl-4-nitrobenzene

D) 5-chloro-4-methyl-1-nitrobenzene

Gpsseol SFnFCFIInGHer &iflwimeor
IUPAC QuUiwliy

A) 2-QDEH L -5-BLCIm —1-GCeTm G
QL1 60T & 60T

B) 3-@CemmCr T —1-QLO&H6L —1-mBL QT
G167 & 60T

Q) 2-&CemmCGrmM-1-Q 0 & Hev-4-mHL G T
@ LI 60T & 60T

D) 5-&BemmCrM-4-Q & Hev-1-en B LG
G LI 60T & 60T
17. The number of stereoisomers obtained by?
A)l B)2
05 D)6
19 gmeoTery —2-LNw,l Ieemenr LGFMLAIGeTMHMLD
QFWUWLL GCuUTs HaoL&EGI - LmGeusr
Lo M9 LLITB1 85 6111 63T 6T600T 6001 | 85 60) &
A) 1 B) 2

Ok D) 6

18. The number of isomers for the compound
with molecular formula C BrCIFI is

A)3 B) 4

05 D) 6
C,BrCIFI epevdgnmi eumiiiiLim® G & meoorL
GFILNS G avle6iTer Lo D pdl w161 85 6rfl 60T
6T600T6001 1 8560 55

A3 B) 4

05 D)6

19. Which of the following compounds will
exhibit geometrical isomerism?

A) 1-phenyl-2-butene
B) 3-phenyl-1-butene
C) 2-phenyl-1-butene
D) 1, 1-dipheyl-1-propene

BL&H&HETL.  GFFmIGeT e 61g)
LTHMWESens QedeflliL@m &S0

QI 6l

A) 1-19.6m60T60-2-LI W, L Ie 60T
B) 3-Lllemeorev—1-LI Wy, L IeedT
Q) 2-L9emeorev—1-L91Wl, L L 60T

D) 1,1-emL LTemeor6L—1-L Gy LIL 60T

20. Which of the following will have least
hindered rotation about carbon — carbon
bond?

A) Ethane

B) Ethylene

C) Acetylene

D) Hexachloroethane
SMFUT-&TFL6T Llemeoorlienl QUTMISS
aeguiley  BLEseoL.  EFGFTINGSSH 6V
&rLD6VEUG M & ITEOT S0 &OMHSI
SmeoTLILGSmSI?

A) T &G & 60T

B) 67585160 60T

Q) o1& 1965607

D) Qam&aFmT&CermErm /&G 60T

21. The compound which is not isomeric with
dicathlether is

A) n-propyl methyl ether

B) butan-1-ol

Copyright @ THE ALCHEMIST CONSULTANCY



C) 2-methyl propan-2-ol
D) butanone

ML 5TV FHMLET LmHOPlLUSHS
QauefllIL(M&SETE CFFLOLD 6T5?

A) n-LGTmLiemLIL QGH 6V F&HIT
B) LW, L_63T —1-34,6085 M M6V
Q) 2-QD&H 6L L|GTITLILIGT-2-34,6V

D) LYwy,l"L_Geor medr

22.25g of an unknown hydrocarbon upon
burning produces 88g of CO, and 9g of H,O
This unknown hydrocarbon contains

A) 20g of carbon and 5g of hydrogen
B) 22g of carbon and 3g of hydrogen
C) 24g of carbon and 1g of hydrogen
D) 18g of carbon and 7g of hydrogen

25 @M emaml GrmamiLiemeTr 6rflé@ld
Guma! 88 & Wwmmih OC, Lmmbd 9% H,0
SMHHBMII. 6Tevtl6L I HS mam L CIssmyLIeo eV
o aTengl .
A) 20 &) &TTFLET IDMHMID 5 &) emam L. [Jeg60T
B) 22 &) ST LIET LDMHMILD 3 &) emamL_[Je360T
Q) 24 &) &THL6T InMHmILD 1 & emamL[Fe6sr

D) 18 &) &MLI6T LDMMID 7 & emam L [Je360T
23. An organic compound is estimated through

Dumas method and was found to evolved 6
moles of CO,, 4 moles of H,O and 1 mole of
nitrogen gas. The formula of the compound
1S

A) CHN

B) C H\N

C) C HN,

D) CH,N,

G wempuilled e® &g CFFISMS
SeThsMlwd CUTE 6 GLME&eT CO, 4
GLDMeL& 6T H,O LM MILD 1 GLOITEL 60 [BL[J 83601607
SOH S eTenf16v S| FGEF TG S 60T
eumwLum®

A) CH,N

B) C,,H,N

C) C,H,NN

12778 "2

D) C_H.N

6 8 2

24. A gaseous hydrocarbon gives upon
combustion 0.72g of water and 3.08 g to CO,,.
The empirical formula of the hydrocarbon is

A)CH,

B) C,H,

C) CH.

D) C H,
e mlemevwilsvieTar enam L G &ITTLI6m 60T
eriflé@h Gumal 0.72 & By wmHmib 3.08 &
CO, 8 HMHHME! 616016V B FH60T eTafl &G
eumuum@

A) CH,

B) C,H,

Q) CH,

D) C,H,

25. Which of the following hydrocarbons has the
lowest dipole moment?

A) Cis — 2 — butene
B) 2 — butyne
C) 1 — butyne

D)HC=CH-C=CH
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G LD 855 600T L QML BT ITITLI6oTS6erflev
550G GOMBHS QGUETEG LIS Slmedt
&L Q& TevoT LSl

A) Flerv-2-19ul L 1e 60T

B) 2-L91Wl, L 60 L_60T

Q) -9, 6mL_60T

D)H,C=CH-C=CH
26. Among the following compounds, strongest

A)H-C=C-H

B) C.H,

C) CH,

D) CH,OH

Blh& gL CFFLOMmS6 6L euellemlAG&GHS
blevld 61&I1?

A)H-C=C-H
B) CH,
Q) CH,

D) CH,OH

27. The hybridisation of carbon atoms in ¢ — ¢
single bord H-C=C - CH =CH, is

A) sp® — sp?

B) sp? — sp*

C) sp — sp?

D) sp* —sp
LD 8> 600TL &ifling
GF ST aVl6iTer ST LIGOT-&ITIJ LI60T
emhenmliNeneoriifieeTer @ 6oTé&euLIL]
wenmGuwl

A) sp® — sp?

B) sp* — sp’

C) sp — sp?

D) sp* —sp

28. The number of sigma and Pi-bonds in
1-butene-3-yne are

A) 5o, 5n
B) 70, 3w
C) 8o, 21
D) 60, 4n

1-L9 W, L1 65T —-3-8260T 6T60TM & I L0 & G &F T L0 & B) 6V
o _6iTerm L916m)600T LIL| &5 61T 60T 6T600T600T | 8560055

A) 50, 57
B) 70, 3w
C) 8o, 21

D) 60, 4n

29. The bond between carbon atom (1) and carbon
atom (2)in compound N = C — CH = CH, involves
the hybridisation as b
A) sp? and sp?
B) sp® and sp
C) sp and sp’
D) sp and sp
N = C1 - EH =CH, eteorm &IlngF CFILSH6L
9 6TeT &HMTHL6T 6ol (1) LDMMILD SITTLI6OT
I 2) @eummlev &HmevorLILI(BILD
@) 60T&&H6VLIL .
A) sp? and sp?
B) sp’ and sp
C) sp and sp?
D) sp and sp
30. Among the following, the strongest base is
A) C.HNH,

B) P-NO,C,H,NH,
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C) m-NO,-C H,-NH,
D) C,H.CH,NH,

Gps&seol &ifling  Gojmisefley  6rgl
aledlemld &HS SMyLD

A) C,HNH,
B) P-NO,C,H,NH,
C) m-NO,-C H,-NH,

D) C,H,CH,NH,

MATHS Q.No. 31 to 45

31. A(a,0) and B (-a,0) are two fixed points of
AABC. If its vertex C moves in such a way

that tanA + tan B = A, where A is constant,
then the locus of the point C is

A)yAr=2a
B)ya=2Ai
C) A x*+2ay =2 a?
D) L y? +2ax = A a?

AABC ull6év A(a, 0) MMID B(-a, 0) 6redrLieoT
BlemeuLiLeTerflger. 2 &L eTerfl C wWimeTs!
tan A + tan B = A (A wmn)led) eredTmeEUmmI
@ WMIGLOmeoT ey, C U 6T @) UMl &6U6enT

A)yA=2a
B) ya=22
Q) AX2 +2ay = A @
D) Ay? + 2ax = A &
32. A line which passes through point A(2, 3)
and makes an angle of 45° with x — axis. If

this line meet the line x +y =—1 at a point P
then distance AP is
A) 2V3 B) 3\2

C) 5V2 D) 25

@@ GComLmers A2, 3) eredrm  LjeTerl
QUALIMHED X S|F&L60T 45° G&TevoTdFH eyl
2 6TeMgl. @&CHMLTETE X + y = =1 6T60TM
GamLemL P eteorm Lemerflullev FHH&HR M
6Teotl6L AP WlledT LOGILIL

A) 273 B) 312

C) 5\2 D) 25

33. A line L passes through the points (1,1)
and (0,2) and another line M which is
perpendicular to L passes through the point
(0, —1/2). The area of the triangle formed by
these lines with y — axis is

A) 25/8 B) 25/16

C) 25/4 D) 25/32

L eteorm G&m(®m (1, 1) wmmin (0, 2) eredrm
Ljemerfl &6 aufG U QEF6L B M &i1. M eT6dTm G&H T(h)
0,-1/2) eteormn Ljeimerfl euNluimseyld, L etedTm
CHEM_IY MG QOFHIGHSTH|D 2 6Temgl. L, M
6TeoTm CGHMB&GET LOMMID y — SFF eLHEOTMILD
2 (HOUMEHGLD (LN&ECSETEooTSH 60T LITLIL]

A) 25/8 B) 25/16

Q) 25/4 D) 25/32

34. Let P and Q be any two points on the lines
represented by 2x — 3y =0 and 2x + 3y =0
respectively. If the area of the triangle OPQ
(o-origin) is 5 units, then the equation of
locus of midpoint of PQ is

A)2x*-3y*+15=0

B) 2x*—3y*—15=0

C)4x>— 9y?+30=0

D) 4x* + 9y? + 30 =0
P Q 6T60TLI60T (LD6mMGW 2x — 3y = 0 LoMMILD 2x
+ 3y = 0 er60T CHMMHGefleT L& emLOULD
Lj6iTerf1 &6t eTedrss. AOPQ-60T LITLIL| (0-2u8)) 5

VG GEH6T 6T6evflev PQ-60T 6o LnWILIL]6iTerfluleor
@ WIhIG6UemT
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A)2x>-3y*+15=0
B) 2x2-3y?-15=0
C)4x°-9y>+30=0

D)4x* + 9y +30=0

35. If in triangle ABC, A = (1, 10), circumcentre
_ <_L 2) _ (1L 4
= (73,3 ) and orthocentre = | "33 ) then
the co-ordinates of mid-point of side opposite
to Ais

A) (1, -11/3)

B) (1, 5)

O (1,-3)

D) (1, 6)
AABC Wlev o &Ryemefl A = (1, 10)
&GMHM QL eOOWID = (-%%) LOMMILD
QERIGCHTL(H emOWID = <%,% 6T6ufl6v A-60T
TR TLGESHST 601 BHILIL|6iTerf]

A) (1, -11/3)
B) (1, 5)
O (1, -3)

D) (1, 6)

36. If the distance of any point (x,y) from origin
is defined as d (x,y) = [x| + |y|, then the locus
ofd(x,y)=1lisa

A) circle of area 7 sq. unit
B) square of area 1 sq. unit
C) square of area 2 sq. unit

D) none of the above

%PUIOGHaE  (x, y) e6arm  LeTeleS
2etem  grgd  d (x, y)  =ix|+ly] ereor
QIMTWMGSILGSRMS! 6reoflev (x, y) = 1 60T
@\ WM& 6lem.

A) LUTUL T &FSIT 6VE& 2 60 W QUL L LD
B) LFLIL 1 F&IT 6V 260 6(H FSITLD
O UL 2 F8IT 3|6V 2_60L U 6(H FSIFLD

D) @eummlev eTgia]lh @) 6Veme6y

37. The distance between the Circumcentre and
orthocentre of the triangle whose vertices are
(0, 0), (6, 8) and (4, —3) is

A) 125/8 unit
B) V5/2 unit
C) 5V5/2 unit

D) 5V5 unit

(0, 0), (6,8) LOMMOID (4, -3)
2 FFI LjeTerf| &6 mas Q&5 ITevoT L
(WN&HCEHTOTSHH T SHmiel L eLWLD
LOHMID QFBICSHTL( WD @eaummim&
@ LILLL Q&Tem6ve

H Welmenm

A) 125/8 96L&
B) V5/2 246ev&
C) 5V5/2 260

D) 5V5 &jev&

38. A ray of light coming along the line
3x+4y-5=0 gets reflected from the line

ax+by—1=0 and goes along the line
5x—2y—10=0, then
64 112
AJa=1150="5
_—64, 8
B)a=115:b=115
_ 64 ,_ =8
C)a=1150=115
—64 , _ —8
D)a=715.0=11

@M QM&GEHEHT 3x+4y-5=0  6r6orm

GamMLIger euPlCW  eubd ax+by-1=0

eTedTm  G&MLIgermey TR QeGSR
5x-2y-10=0 ertedoTm G&MLIger euflGul
QEFLTR M 6T6vf16v
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Aya= =12
B)CL:IT%,I):%
C)a=115b=115
D)a=Todb=13

39. If the line y = V3x cuts the curve x* + y* + 3xy
+ 5x? + 3y? + 4x + S5y — 1 = 0 at the points A,
B, C then OA. OB. OC is

A) £(3¢3-1)

B) 3V3+1
C);%;+7

1 1
D) ﬁ+2

y=\3x 6160TM G&M({H) X + y* + 3xy + 5x2 + 3y2 + 4x

+ 5y -1 =0 6eTedTm QUemeTaUemTemnW A, B, C-ullev
Qaul & ma erevflev 0A. 0B. 0C 60T LOG)LIL]

A) {5(3/3-1)
B) 3V3+1
2
L4
0) /3 7
1 1
D) 372
40. The co-ordinates of the point P on the line

2x+3y+1=0. Such that |PA—PB| is maximum,
where A 1s (2, 0) and B is (0,2) is

A) (5,-3)

B) (7, -5)

) O, -7

D) (11,-9)
A2, 0) mmID B (0, 2) eTeoTLIEOT @)
LieTerflg6T. P ereorm Lieimerflulledr Quul S|5&8
FoMIEHET 2x+3y+1=0 eTe0rm G&HITL 1960
55 &Ml Cad [PA-PB| eTadTLISI

BSUQU@® wH e emwjnmm P - ullesr
T IS 6T

10

A) (5, -3)
B) (7, -5)
QO -7

D) (11, -9)

41. The graph of the function y = cos x cos (x+2) —
cos? (x+2) is

A) a straight line passing through (0, sin’1) with
slope 2

B) a straight line passing through (0, 0)
C) a parabola with vertex (1, —sin’1)
D) a straight line passing through the points

(%, —sin’ 1) and parallel to the x-axis

y = COS X COS (x+2) = cos? (x+2) eTedrm &FmyLileor
66N LILLOT60TS!

A) Fmle] 2 2.emLW (0, sin21) eTedTm L|6iTer]
aIldl& QFevavId GHIECSHT(H

B) (0, 0) PG QF 6D CBHITEHCSHT()
C) (emeoT (1, =sin?1) 2_emL_W LITEUEMETWILD

D) x—3|& & & @) 60 600T W TE6 LD (% — Sinﬂ)

61601 (D Lj6iTerfl euLSlUIME 6 Lh QFeueviLd 6 (I
CrIHESHTH

42. The incentre of the triangle with vertices
(1,V3), (0, 0) and (2, 0) is

A) (1, 312)

B (3
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(1,43), (0,0) WO (2, 0) etedTm 2 FHLI
Li6Terf & enenss Q& mevorl (D& @85 Tevors; 5 6T
2 6Tl L 6mLOWILD

A) (1, 3V2)
2 1
(3’ 3)

o (3]

43. Let P=(—1, 0), Q = (0, 0) and R = (3, 3V3)
be three points. Then the equation of the
bisector of the angle ZPQR is

A)f

x+ty=0
B) X+m\/3y=0

C) V3x+y=0

V3

D) x+< 5

oo

P=(-1,0),Q=(0,0)R=(3,3\3)
3 yeteflger  erenfléb
QBHF LG 1QUN 6T FLo6oTLIT(H)

mvﬁ

6T60T LI 60T
£PQR - 60T

x+ty=0
B) x+m\3y=0

C) V3x+y=0

V3

D) x+< 5 >y=0

44, 1f the lines x+ay+a=0, bx+y+b=0 and

cxtcy+1=0 (a, b, ¢ being distinct#l)
are concurrent, then the value of
a b c
a—1tb-1"c—1 "
A) -1 B)0
O)1 D) none of these

11

x+ay+a=0, bx+y+b=0  wMMID  cxtcy+1=0
(a, b, c QeueUGeUMTETEME LOMMILD #1) 6T60TM
CaHMH&H6T sppLeTer] auldl Qaeuaiin eTeoflev

a b cC 4 .
Tt poT T oo O LSuy

A) -1 B) 0

Q)1 D) @eummlev

618161 @)6LEM6V

45. The area enclosed by the line bx+cy=a (where
a, b, c are the same sign) with coordinate axes
is 1/8 unit?

A) Db, a, carein G.P
B) b, 2a, ¢ are in G.P
C)b,a/2,carein A.P

D) b, —2a/3, ¢ are in G.P

bx + cy = a (QmI@& a, b, ¢ ereTLI6T 6(H
Glemwl  QUMMENE) 6T6oTm  CSTLITETS!
T 9| & & @ L_60T goUOSSID

(&GS TEoTS B 60T LITLIL] 1/8 216VG? 6T6vT160

A)b, a, c ereTLET QUBHEHEGS QSMLIflev
Sl6mLOU]LD.

B) b, 2a, c eTedTLIENT QUIHHGHES QSTLIflev
SlemL0U]LD.

Q) b, a/2, ¢ eeoTLEOT Fal (NS GHTLIfl6v
SeMLOU]LD

D) b, —2a/3, c 6TedTLI60T QLIHSHGS QHTL[flev
SemLoWLD
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